@) (rad)

Ratio

ooa )(cm)

105

Xy

iy

0.95!

W[TTTT T

-2

—_—

-1 0

1

2 3

TP n (PCA to beamline)

Fit-DQM_ orlg
—— DOM_TT_mkFit-DOM_up

a(d cot(B))

1073

Ratio

,_.
S
L

———

............

105

[y

0.95

TP n (PCA to bea

2

3
mline)

inal_newwindows
ate-mod127

[—=— DQM_TT__mKFI-DQM_original
—_— /dataz[ll_glz_glannllstandalﬁne May24/CMSSW_13_2_X_2023-06-05-1100/src/DQM_TT__mkFit-DQM_updated
mk

0

-4 _f:g_:_w NI

[y

1072

|
W[

2

|
W[

2 3

TP n (PCA to beamline)

o(d d.) (cm)

z

1

=
<
N

107%E::

iy

4

-1 0

1

2

3

TP n (PCA to beamline)



	Contents
	Page 1


